log (L*/L* ) TUBSRGB lightnessL* normalized |[log (AY/AY,) TUBSRGB tristimulus value difference|
LHIL* to the background lightness_*, AYIAY, AY normalized toAY,
24100+ —s(Y/Yn) ~d (Y,=100,Y,=18, s=100, n=1/In(10), d=0Y1§ 24100.* —s(Y/Yn) -d (Y,=100,Y,=18, s= 100, n=1/In(10), d=0)1.
L*=r (YY) "=d (r=s(Yy/Yn)"=47,48,L* ;=1 - d) [1b] Lo =r (YIYY)"=d (r=s(Yy/Yn)"=47,48 L* ;= r - d) [1b]
LA (=YY YO (1n(x)=In(10) log(x)) [1c] =Y/ (ns)ICY /Y [2c]
log(L¥/L* 4)=(1/In(10)) log(Y/Y,) [1d] dYy = Yo/ (n's)](Ya/ Vo) "= 1,0934 [2d|
1410 In(L*/L* ,)=log(Y/Y,) [Le]|| 1410 av/dy, =(Y/Yy) ™" [2€]
LH/L* 4= 090 [f log(dY / d¥,) = (1-n) logY / Y) 2f
#0,391
My =N =0,434 .- »20,301 Mpy = 1-n = 0,565 . ° '
,=0a3” T T T PR o
- a ication " -
0567 ' rapr?ge R : ?é)r?élgatlon
o 0.1 1 10 1Y,=18100 vy o 0,1 ~0,739%¢ 10 'Y,=18100  y
- -1 0 1 2 logY - -1 0 1 2 logY
heo40-5a heo40-6a
log [(AY1Y) I (AYlY)] ~ TUBSRGB-Y sensitivity log[(Y/AY) / (YIAY),)] TUBSRGB-Y contrast
S/Sy=BYMIQYN), normalized to AY/Y)y CrlCry =(YIAY)I(YIAY), normalized to (Y/AY),
241007 =5 (YY) "—d (Y,=100,Y,=18, =100, n=1/In(10), d=0)1§ 24100-* =s(Y/Y;)"-d (Y,=100,Y,=18, s=100, n=1/In(10), d=0)1.
L*=r (YIYQ)"=d (r=s(Y/Yy)"=47,48,L* ;= r - d) [1b] L*=r (YY) "=d (r=s(Yd/Yy)"=47,48 L% ;= - d) [1b]
dY/Y=[ (Ve (ns) 1Y 1Y) 1Y [3c] Y dY=Y/{[ (Yo (ns)]Y 1Y) ™) [4c]
@Y /1Y) =Y/ (n8)1(Yu/ Yo 1Y, [3d] (V1Y =Ya (LYl (nS) (Yl Y)' ") [4d]
1410 (dY /Y)/ (Y /1Y), =(Y/ Yu)'" Belll 1410 (v /dy)y/ (Y /dyy=(Y/Y)" [4e]
log [(dY / Y)éédy / YL n) log(Y / Yy) [3f] log [(Y / dY)/ (Y / dY),] = (n) log(Y / Yy) [af]
ol nzcosse | Te. o gmeen | b myon-ose a0
m, = 0,434 S my = 0,434 P [E—
' ®—-0,300 . ' application
. -0,567 " ' range
L 0,1 1 10 'Y,=18100 v o 0,1 1 10 'Y,=18100 Y
-2 -1 0 1 2 logY - -1 0 1 2 logY
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heod0-7n




